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The "universal set" U is the set of all sets of the type of set you are dealing with.
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2. 'FA_‘?P) ',A'\,QA‘,B'LSB

e. A <A, =t <fRD
Proot - G}uerLrA.,giA\\

To show: -P(ACD_Q-F(AD

Let Xé'F(AD. Since x (s in the imﬁi
of Ag Undes ’F) we knaw thed Hhee exists
S?me ochA, such thad @@ =x_,

Since A2 A , e hove e |

Since ae A, , W have T efF(A)
Since x:-@(q))wgb\o\\}e x{'.P(AD o

f:A->8 R A::;A\ A
2. FALAD = FADvFAD

E\'o prove = we need o Pove S X 2]

Proof : & & Lot xe F(A.VA ).
=7 J oA, svekthat F(@)=x
A€AA, = ach, or ach,
Casel :qe A, = F(a)C-F(AQ
FOD = FAY v £A) .
= £l CFAYACAYD .
D 3 xe faNe A
Case2 : achA, ’é—P(a)ﬁ*P(AD

FAY = FAN v £AD
D HQ /AT (A
X240y 2 xe £ Adv A,
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